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Q.1 F=fafaa d @ fra area & afRumorer=re feranfasivor g2
Ans o A Toft &l gote afgon &

25 B. 397 gUIYE A 7eg
X C.ug Jaa gl AT U B
25 D. 3ITST gH 31aT-eh hd 3T?

Question ID : 630680173112
Status : Answered
Chosen Option: B

Q.2 f=fafla d | 3z uesnd ar area &Y ugar &R
Ans X A #9377 INIR | Bt @Y 3R 91e, s |

25 B. &7 31T aToiR # TTe ofRk Bia, fAars @)
25 C. A ST IeIR A Bt ok dTe, fAaTs @l
" D. 77 31TeT AR # 97e, fiaTE ok B @l

Question ID : 630680173072
Status : Answered
Chosen Option: D

Q.3 F=fafla & @ &= a1 e ‘g’ o1 gafgar a8 8?2
Ans X A Gfaar

o B.dde
X C.fafR
/X D.Ads

Question ID : 630680173046
Status : Answered
Chosen Option : A




Q.4 f=faf@a d @ srgef o@ @ & arer &1 wa+ RS
Ans o A QU & GedTd Ed g1 oY

#< B.hd gH &l o T

X C. &7 @ @ form g1

#< D. T ISR STTd f BR &1 Gt A 317 ST |

Question ID : 630680173110
Status : Answered
Chosen Option : A

Q.5 F=fifad aag-ge #i T Sug = @ Ted-
‘S A | HEeY @ar gt

Ans X A THY
X B.HifEs®
& C.Hifcin

75 D. que

Question ID : 630680173099
Status : Answered
Chosen Option: C

Q.6 fA=fofaa d & fora garer o1 oref Bt a1 vepe T 82
Ans X A. 2Te IefeAm

«# B. ToR HIS & Siig ST
25 C. 7T Shaz1
25 D. gecdt & ugR g

Question ID : 630680173061
Status : Answered
Chosen Option: B

Q.7 ‘wrorumeT @<l iRk ____ qaAm @r
ek I Y gl & forg IR 2res @1 w99 &3

Ans X A. forarae
« B.Rfy
< C. St
5 D. 7T

Question ID : 630680173076
Status : Answered
Chosen Option: B




Q.8 ‘ggfammeiRasd____ I
fer = i g & fog e 4 @ &9 a1 area-@is g 82

Ans o A T 91C AT UM O 8
#< B. Ut ga g1e &1 Ui 8
X C. g g1e o1 gt il €
25 D. urit dYcht € wem are @t

Question ID : 630680173094
Status : Answered
Chosen Option : A

Q.9 ‘st aafn wiqe Sftew oo Ted &, S el g A wgR &l vt R

I 21z g a1 | R R Y gt R
Ans X A gunm
X B. i
/< C.ddm™
« D. =i

Question ID : 630680173082
Status : Answered
Chosen Option : A

Q.10 F=fafEe ereel & @ ‘wyar 2reg & faeaneff & aua w3
Ans X A ggam

< B. TRG

75 C.=gedan

o D. FshRET

Question ID : 630680173048
Status : Answered
Chosen Option : A

Q.11 ‘Iuh} sieitfeher alvgar & HrRor Tt FlvT I§ S1e= 4 81
A e g a1 | ¥@iford 2res ot ufaenfiea &3

Ans X A fEmER
< B.duA
&K C.IH

& D. AT=Ian

Question ID : 630680173083
Status : Answered
Chosen Option : A




Q.12 fA=fafad aea-avsi # ad e § wnfta fifse-
-7 &
-reft et & fog Rmer ga &1

Ans X A it gearsit & forg SR gia € Ay & |
< B. 7% & &H [SRIGR gid € el geraii & fam)
o C. 7T & ¥ Tt geArafl & fog Ser gid &)
#< D. SreR gid & It gearat & forg 7= & & |

Question ID : 630680173090
Status : Answered
Chosen Option: C

Q.13 A7 gHfog udisrH o & foh 39 sru= 9e urern &'
S arer # fohe W it g+ oigpg 82

Ans X A UcUHTE
" B. OdsH T8
X C. fop 39 sruem

< D. 59w s9fey

Question ID : 630680173053
Status : Answered
Chosen Option : A
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TR &h Y a1 At T Y ggEE hifdg:

Ans X A ftmforat &
o B. TUEHIRAT-UREUI S1d §
< C. amTfore iR
&< D. 7 g e Siflieh

Question ID : 630680173059
Status : Answered
Chosen Option: B

Q.15 fFafafEs al | & rsgaas g s13fs aet are o1 o= &R
Ans o A TARIE A 9= A Sl sIfee=e o e fohar T 81

X B. areHifes F IO Y 39T Y

25 C. 38 wTuT-fag o1 SresT I &

2< D. g 37U g9 R 3¢ &

Question ID : 630680173087
Status : Answered
Chosen Option: C




Q.16 fo= & & 39 a1 A1 I9 & fSH9H ‘v FR' &
Ans X A T @ @I &l

7< B. ITcTch &l STotelt Sreedt onTell 81
o C. foardt &t s gty
25 D. & fddT il dwrer fezm

Question ID : 630680173116
Status : Answered
Chosen Option: B

Q.17 ‘zafh o1 @Ta Fft T8 agear
39 orf arelt srgrad @1 Tu= fifSig|
Ans X A. 3rg-fi-3ra-t guet, STaT-S10AT IR
£< B. T Y TG, STHAT ¢ SATG™
«F C. DI 818 7 o, A1 7 AT @1
75 D. S mar gt =

Question ID : 630680173066
Status : Answered
Chosen Option: B

Q.18 =1 arerdl A | gdedie YT & aTe & 99+ HIfAg:
Ans X A & ot Peard o1 8 3 o g oY

& B. 3R 3T HeHd oht gidial 3raea et et mht gt
2< C. &= gHen § I8! g7 & foh STt 9 dierd & 98 9ol 81T &
75 D. 1. argearied vEe 7 Rl Amenvur R g ford oft

Question ID : 630680173105
Status : Answered
Chosen Option: B

Q.19 fF=faf@a 9 & ‘srquf sraves foRar aret aTer &1 ag= 3
Ans X A I 3 qd TS 8

X B. 31 wrsfoher Tt &1

o C. 3T ard agd @it g1

2< D. 39 g8 T g

Question ID : 630680173120
Status : Answered
Chosen Option: D




Q.20

Ans

Frafaf@a 9 @ 3z uesra aret farerea 1 =g &
2 A urft 78 s 3 g ue smem)
< B. S ® giff F g &
< C. 13 ga1 wR ST gon & ol s e
o D. TA7 59 IR 9gd uReH fhaT ¢ saferg awhe oft gt Simei

Question ID : 630680173091
Status : Answered
Chosen Option: D

Q.21

Ans

Comprehension:

‘G & HeTTT I GHBI STal Goh SR IS FedT g, df GO SR SHh STH AT chl T, Wi,
TS, Tg-Te 3T, &1 Ry off fiet ST 81 36 UehR & H1iged 3uR 99 &l ST aial 81 39 sfagr
H el STaT BIdT & AAfch 3T Higd T ST T 81T & | THTST A St $© °fed gl <81 &, 31 gfed gt
HerdT 8, AT ST &l 310 Mo H TR AT &1 ST Aifeed THIST d SI3T 6l BiaT, TS i g
T &, I8 AT Telehe Ty JUfEd g ST g1

qifgd 3R THST & URTRe Gel aht e fAgHT & &t UehR & aif a4 7Y &1 Ueh A1fiacd il sheareHehdT
Y T 3T & SR hedT & foh chel, Shetl & forg gt anfee | TmTeT T et his 13T el & 1 g@RT anf
e ot TSt & Tifr STRER AFaT & ok shear & foh arfecy Tame & fog 8| anfdcrsr afe gars i
IUET R HTfod-TaT el 6 dl ST TcTehy IHhT Hilged THTST YT hgell Fehdl 6| THTS i GIE H
TR foraT T Tifeed, THTST gIRT $1ER UTdT 8| UHT Wi STR BT 8| THTST IR, o, a%, STard
anife; Y giaemd &ar 8, af SRR St dheu wies 7 freror o, T ofR hga-feras &t oo &R
e e 8| Ao TATST § sheane STfdd 61 38 Sehdl|

SubQuestion No : 21
erer § 9ifged @ 9w a= @ aw [Afga &2

< A TErir 7 it © S ag 7 [Afgd & foh TSt arfgcaenk at gRa, Mo, a9, SimaTd ofe
6T GAemd 2aT 8| SHfeIT TIfEeRTR Rl THIST T ST TET AT eh &l

X B. TEiw & Aiiec § Gifd gg ae FifRd @ o a8 9Tt &1 U g @, S8fere ATt € 31T T8l
gl

& C. TN & Hifgc & Ewsitd a8 a2 fea & i a1fiecy aurst @ shean Shifda =gl 38 Sk, Sit
TTfged THTST & ST Tl e1dl a1 GHTST Sl STaaerl el 8, I8 Yeh fo T Jufera g siman 21

25 D. Terian § Oifecy & g ag a2 fAfgd @ o anfewa <t ot A faenfSia 21

Question ID : 630680173133
Status : Answered
Chosen Option: C




Q.22

Ans

Comprehension:

‘I & TeTTT § §Heh! STal Yeh STR TG AT 8, T GOt 37k Ik ST-H AT hl FdT, GEpid,
TSI, TE-Ta 31T ol UR=r off e STra 21 39 UehR @ I1feed 31u 9o & 3figT gial 21 39 sfagre
H hedT Srasd gidt § aifch Suw fAfgd O 1 9 giar 81 o § St ¢ ufed gt @1 8, anafea gt
GohdT g, ATfgcdehR I eht ST ANE | R ST &1 S AIfecd THIST ¥ S[ST el g1dT, THTST i STageT
AT §, T8 AT TeTehe T IUfeT gt SIrar 81

Tifig 3R THTST & URERe Geel ht Ak g A &t bR & aif &1+ T4 & | Ueh AT hl ehellcHehdT
T TRIRIAT 3T & 3fR gl & o ohett, dert & forg g anfee | a9 @ Ieht @hig a3 T8 81 gERT anf
qifed ot TSt & Tfd ST AFar & ok shear & fok arfecy TaTe & forg 8| R afe garet &t
T T ATfRT-TTT el & Al ST TeTehy ITehT HTe THTST [RITATT hgell TehdT &| THTST i gfe d
TR foraT T AR, THTS GIRT ST UTdT g U9 Wiy STFR §idT 8| ST JRe, e, ae, STarsd
3nife; Y giaemd &ar 8, T FfecaerR St e wieh 7 freRor e, T ofR ahga-feras &t oo SR
gfdem et | ey gaTsT @ sheane Sfad T8t 38 Terd|'

SubQuestion No : 22
‘Juer & faeardT 2ree &1 == =R

oF A. aTderm
< B.33erm
75 C. odten
25 D. areften

Question ID : 630680173134
Status : Answered
Chosen Option : D




Q.23
Ans

Comprehension:

‘I & ST Y §Heh! STal Yeh STR TS MAetdT 8, T GOt 3R Ik ST-H AT hl FdT, GEpid,
TS, -G 3T ol UR=r off fie ST 21 39 UehR @ T1feed 3o To & g gial 21 39 sfagrd
H hedT Srasd gidt § aifch Suw fAfgd O 1 9 giar 81 a9 § St o ufed g @1 8, arafea gt
HendT 8, Sl IHT o 31U+ Hifec | TR a1 81 ST Aifecd THTST 9 ST 61 oidT, THIST ehl SdgeT
AT §, I8 AT TeTehe T IUfed gt Sirar 81

Tifgd 3R THTST & URERes Gerel ht A gL & &t UehR & aif &1+ T4 & | Ueh A1 &l shelTcHehdT
Y T 3T & SR hgar & 3R shett, shert & forg gt anfae ) TmTet @ et g -3 et &1 guwr ant
qifed ot guTSt & Tfd ST AFaT & ok sear & fok arfecy TaTe & forg 8| anfdcrsr afe garer &t
AT T ATTRT-TTT el & Al ST TeTehy ITehT ATE THTST [RITATT Shgell Tehd 8| THTST i gfe
Tgehs forT a1 TR, AT gIRT S11eR UTdT 8| Q9T TIfRcd 3R gidT 8] TS Refl, HieH, a%, ATard
3nfe; Y Giaemd &ar g, 3 IfeaerR Sl e wieh 7 freRor e, WA ofR ahga-feras &t oo &R
gfdem et 8| ey gamsT @ sheane Sfad T8 38 Terd|’

SubQuestion No : 23
I TErien & IR AR 1 T HSD ad grir- S F snavds ad HiSE &

oF A TR & ST T §HRI TS AT &, T B Akl i, {TST 371fe a1 BfagTRies e
frerar 81 T ofk T IRER 8 gl €1 Tifeed ofk et & urwaRes deiei & fawg & fagmt & at
i 9 1Y & ST Geh helTcHehd ohl TRIRET &dT & o1 GERT Alfecd i JHTST o Ufd ITRERIT AT 81 his
T Tt SR &t ehdl! & 79 a8 THIST ol 5f8 H I@ens fordl Teft 8 3T THIST 39 S1eR T8l 3T, ThR
argl

75 B. AT # Sl $ °fed 81 8T 8, T 9fed 8 HehdT &, HITedehR i 37U 391 | I4T ahl fore=r
1T helTcHeh TTfecd ohi THST IUTAId hR &dT & 3R ATRPR chl JUETT| hiS ATGADR chl hed-TT
e # G &) HITR b1 Tl gl o ehall, IHeh fo1q IQ THTS TR TR 611 giell & 7t IHeh Ao,
I, AT 3T I HIRAT T B

X C. g TSt o sfaer gtar & fSigeh sremae & gt et et 81 fobmg afe anfesy & et ot
3G g It I8 IS A1 el & IRfere aifiger en ot wwTeT @ Juferd g) ST & 3R ITehT shig
3 T8} Tl

< D. TIfigcy & 31w J gHeh! STl Yeh 3R 3T fAietdT § 98T ohis Aifecy IuTel @ cheey aoft Shifad
g Thd & 19 ATRhR THTST IR ST = &1 | TR | hell ol T 3t a1feq aeft v & areg
31T & | TfgcdehR <hl IUETT T JHTST <t oft I0fera g1 usar g1

Question ID : 630680173135
Status : Answered
Chosen Option : A




Q.24

Ans

Comprehension:

‘I & TeTTT § §Heh! T8l Yeh STR TG AT 8, T GOt 37k Ik ST-H AT hl FdT, TEpid,
TSI, TE-Ga 31T ol UR=r off et ST1a 21 39 UehR @ A1feed 3o 9o & Sfgr gial 21 39 sfagre
H hedT Srad gidt § aifehe Suw fAfgd O o1 9 giar 81 a9 § St ¢ ufed gt @1 8, anafea gt
TohdT g, ATfgcdehR I eh ST AME | TR ST &1 S AIfgcd THIST ¥ S[ST el a1dT, THTST I STagerT
PHRAT §, I8 AT TeTehe T IUfed gt Sirar 81

Tifig 3R THST & URERe Geel ht Ak g A &t bR & aff &1+ T4 & | Ueh A1 hl chellcHehdT
T TR 3T & 3fR gl & o6 ohett, dert & forg i anfee | a9 @ I4eht @hig a3 T8 81 gEwT anf
e ot guTSt & Tfd ST AFaT & ok shear & fok arfecy gaTe & forg 8| R afe garer &t
T T FTfRT-TTT el & A ST TeTehy ITehT TTE THTST [RITATT heell TehdT 8| THTST i gfe d
TR foraT T A, THTST IRT ST UTdT g U9 Wiy S1AR §idT 8| ST JRe, e, a¢, STarsd
3nife; Y giaemd &ar g, 3 feaerR St dheu wieh 7 freRor e, T ofR ahga-feras &t oo &R
e et 8| ey gamsT @ sheane Sifad T8 38 Terd|’

SubQuestion No : 24
Terer @ g & fawa # - S fAedt @2
XA aifge SR grar &1

" B. UTfecd ¥ SIT-UTH U< ! HeATSH hl FTeich MHed 6, fSId Jhreli=l QrTfoten g &t 9
SRl fAfga gl 21

7< C. Tifg SR TS & URTReh el ol diehs fagT A & UehR o ot &1 714 & |
25 D. TifguehRi o &t it & ey g1

Question ID : 630680173132

Status : Answered

Chosen Option: C

Q.25

Ans

Comprehension:

‘TS & NTT I gHT STg! Yo TR TS fAaT 8, I gusl 7R Ich ST+H I i 9T, TEpfd,
TS, Tg1-Tg 31T ot Ufery oft fiet STTar &1 39 TR  A1fgcr 91u= I3a o SfdeTd gidl &1 39 Sfaer™
H T STaRd gidl ¢ cifche SHH Mfgd U hl I i 8| TS A St §© °fed gf <8l &, a1 gfed g
erdT 8, ATfgcdenR SHT &l ST0= TTfecT | TR AT § | ST Aifeed THIST I SIST el gial, TSl i Siapar
T &, IS SN ot T SUfeNd gt SIrar &1

qifge SR THTST & URTIRS Teel &t e fagHi § & TR & aif a1 717 § | Teh T1fecd il shetTerehdl
Y U 3T 8 SR gl & foh e, shefl & forg g1t =g w1 TaTsT & Seht hiS -3 8t &1 g@wr anf
I ot THTST & Ufd ITRERN AT § SfR shgdl & fob T1fee anTe & forg 8| anfgcaaR afe gomsT 6t
I TR Hlfed-TaT el & a1 ST Tciehy ST Hlfged THTST AT hgell TehdT §| THIS dl G A
TG foraT T Aifg e, THTST GRT SM1eR UTdT 2| Q9T ATfcd 3R gidT 8| FHTS Rall, HioH, ae, SAard
anfe i gfaemd Zar &, af TfRhR @t dheu wies # freRur A, T oiR dhga-foras &Y oo SR
e fAerd 8 ey TamsT § sheane Sifad 81 38 Tehd|'

SubQuestion No : 25

TELT & STYR WR TR 3R TS 1 ar<fae Ssfia= & oar 9w 82
gaifad faeeq 1 =g &3:

2 A IS, SRR i et wiieh § fEwR0T e T IER T 8, STTeIg TTieed AT § SIeT 2|
75 B. AIfgd & 37 ¥ S7THg fHierar g SR TSl G EaT g
X C. Tifecy guTSt & ufd IReTS ¢ S4fery Igeh! Sifda i g1

o D. I I ST e o AIY-TTY FHTST ehl G, TEpId, HTHT, Tg-T8 311G el uReg ot
gl

Question ID : 630680173131

Status : Answered

Chosen Option: C

Section : English Language




Q.1 Select the most appropriate meaning of the given idiom.
Broken reed

Ans X A. Something which is not perfect and in good condition
«# B. Someone or something too frail to provide support
< C. Someone or something in a danger of being forgotten

< D. Someone who has broken off all ties with the family

Question ID : 630680172949
Status : Not Answered
Chosen Option : --

Q.2 Select the most appropriate option to fill in the blanks.
The World Economic Forum that we are on the cusp of a fourth industrial revolution.
Technological, socio-economic and shifts are transforming the way we work,
demanding in the way individuals, teams and organisations work. We all have
different things happening in our lives at different times.

Ans X A.honours; gender; commitment
7% B. declares; political; strictness
« C. predicts; demographic; flexibility

< D. administers; cultural; consideration

Question ID : 630680172986
Status : Not Answered
Chosen Option : --

Q.3 Select the most appropriate option to fill in the blanks.

Much has been said of the common ground of religious . | am not going just now to
my own theory. But if anyone here hopes that this integration will come by the ______
of any one of the religions and the destruction of the others, to him | say, “Brother, yours is
an impossible hope.”

Ans X A. abhorrence; lecture; disorientation
«" B. unity; venture; triumph
#< C. abomination; present; disclosure

#5 D. resentment; showcase; announcement

Question ID : 630680172976
Status : Not Answered
Chosen Option : --

Q.4 Select the option that has a spelling error.
Ans X A.lIndia has a plethora of natural resources, and we must protect them.

#5 B. His ignoble motives were exposed by his wicked actions.
#5 C. The foray against the enemy outpost met with an unexpected success.

«# D. He is a hardened criminal and has often been to gaole.

Question ID : 630680172957
Status : Not Answered
Chosen Option : --




Q.5 Select the most appropriate article to fill in the blank. In case no article is needed, select 'No
article required'.
book that you need for the assignment is with Mary.

Ans o A The

& B.An
X CA

#5< D. No article required

Question ID : 630680173004
Status : Not Answered
Chosen Option : --

Q.6 Choose the sentence which has a spelling error.

Ans  # A It's another egragious example of favouritism when the minister hired his brother as
his assistant.

#< B. Everybody resents the supercilious treatment of the manager.
25 C. After a long legal battle, he was exonerated of murder charges.

25 D. He always offers such preposterous excuses that nobody believes him.

Question ID : 630680172963
Status : Not Answered
Chosen Option : --

Q.7 Select the most appropriate option to fill in the blanks.
The reasons for the murder of the gangster are not within the
committee.

of the

Ans X A.jurisdiction; antagonistic
«" B. purview; inquiry
7% C. providence; sympathetic

25 D. horizon; selection

Question ID : 630680172990
Status : Not Answered
Chosen Option : --

Q.8 Select the most appropriate option to fill in the blank.
The director as well as the dancers honoured by the public.

Ans X A. were being
< B. were
" C.was
#5< D. have been

Question ID : 630680173000
Status : Not Answered
Chosen Option : --




Q.9 Select the most appropriate option to fill in the blank.
days | passed in the jungle resort was exciting.

Ans X A Some few

" B. The few
< C. Few
25 D. Afew

Question ID : 630680172996
Status : Not Answered
Chosen Option : --

Q.10 Select the most appropriate article to fill in the blank. In case no article is needed, select 'No
article required'.
Twelve inches make

Ans X A the

« B.a

5 C.an
2% D. No article required

foot.

Question ID : 630680173010
Status : Not Answered
Chosen Option : --

Q.11 Select the most appropriate option to fill in the blanks.
So long as we are children, we are by toys, and the Eiffel Tower was agood ______ of
the fact that we are children enticed by . That may be claimed to be the purpose
served by the Eiffel Tower.

Ans X A. pampered; fallacy; materials

«” B. attracted; demonstration; trinkets
25 C. perplexed; disagreement; trash

#5 D. confused; activism; wealth

Question ID : 630680172975
Status : Not Answered
Chosen Option : --

Q.12 Select the most appropriate option to fill in the blank.
It when | reached there.

Ans & A.was still raining

< B. still raining
25 C. had still rained
2 D. s still raining

Question ID : 630680173014
Status : Not Answered
Chosen Option : --




Q.13 Select the most appropriate option to fill in the blanks.
They found the workshop without its owner. M Thimonier had escaped through the back
door. Now the fury of the turned against the machines that were standing in the shop,
ready to be to buyers. They were broken up and destroyed—dozens of them.

Ans X A humbugs; dismantled; rhythmically
#5< B. monarchs; disguised; instinctively
25 C. evangelists; stacked; thoughtfully

" D. demonstrators; dispatched; systematically

Question ID : 630680172987
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate option to fill in the blanks.
Every profession or trade, every art and every science has its technical , the function
of which is partly to things or processes that have no names in ordinary English and
partly to secure greater exactness in . Such special dialects or jargons are necessary
in technical discussions of any kind.

Ans X A syntax; stabilise; vocabulary
«" B. vocabulary; designate; nomenclature
£ C. structures; laminate; alphabet

#5 D. behaviours; confuse; character

Question ID : 630680172984
Status : Not Answered
Chosen Option : --

Q.15 Select the most appropriate option to fill in the blank.
Rahul a movie on television now.

Ans X A.is watched
< B. will be watched
25 C.watch

+" D. will be watching

Question ID : 630680173016
Status : Not Answered
Chosen Option : --

Q.16 Select the most appropriate option to fill in the blanks.
After a busy schedule during the day, he felt and

Ans & A languid; lethargic

#5 B. gracious; guileless
2< C.judicious; jovial
< D. fickle; fallible

Question ID : 630680172994
Status : Not Answered
Chosen Option : --




Q.17 Select the most appropriate option to fill in the blanks.
Not all agricultural become civilisations, but no civilisation can become one without
passing through the stage of agriculture. This is because at some point in the development
of agriculture, as productivity improves, not all people would need to be in producing
or food.

Ans X A associations; motivated; consuming
< B. ministries; chaperoned; loathing
2< C. universities; brought; devouring

4" D. societies; engaged; procuring

Question ID : 630680172978
Status : Not Answered
Chosen Option : --

Q.18 Select the proverb that means the following.
Relationships between family members are the strongest of all.

Ans X A.When in Rome, do as the Romans.
75 B. The apple doesn't fall far from the tree.
#5 C. Birds of the same feather flock together.

«" D. Blood is thicker than water.

Question ID : 630680172952
Status : Not Answered
Chosen Option : --

Q.19 Select the most appropriate ANTONYM of the given word.
Abominable

Ans X A.Repugnant
" B. Acceptable
#< C. Loathsome
#5 D. Detestable

Question ID : 630680172940
Status : Not Answered
Chosen Option : --

Q.20 Select the most appropriate synonym of the given word.
Munificent

Ans & A. Magnanimous
< B. Economical

25 C. Frugal
< D. Penurious

Question ID : 630680172945
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

A person who takes the trouble to form his own opinions and beliefs will feel that he owes no
responsibility to the majority for his conclusions. If he is a genuine lover of truth, if he is
inspired by a passion for seeing things as they are and an abhorrence of holding ideas which
do not conform to facts, he will be wholly independent of the assent of those around him.
When he proceeds to apply his beliefs in the practical conduct of life, the position is different.
There are then good reasons why his attitude should be less inflexible. The society in which
he is placed is an ancient and composite growth. The people from whom he dissents have not
come by their opinions, customs and by a process of a mere haphazard way.

These opinions and customs all had their origin in a certain real supposed fitness. They have
certain depth of root in the lives of a proportion of the existing generation. Their congruity
with one another may have come to an end. That is only one side of the truth. The most
zealous propagandism cannot penetrate to them. In common language, we speak of a
generation as something possessed of a kind of exact unity, with all its parts and members
homogenous. Yet, plainly, it is not this. It is a whole but a whole in a state of constant flux; its
factors and elements are eternally shifting. It is not one but many generations.

Each of the seven ages of man is neighbour to all the rest. The column of the veterans is
already sinking into the last abyss, while the column of the newest recruits is forming to each
its tradition, its tendency and its possibilities. Only a proportion of each can have nerve
enough to grasp the banner of a new truth and endurance to bear it along rugged and
untrodden ways. Thus, we must remember the stuff of which life is made.

SubQuestion No : 21

Q.21 Which word in the passage means ‘of the same kind'?

Ans

& A.Whole
< B. Flux

" C. Homogenous
25 D. Unity

Question ID : 630680173042
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

A person who takes the trouble to form his own opinions and beliefs will feel that he owes no
responsibility to the majority for his conclusions. If he is a genuine lover of truth, if he is
inspired by a passion for seeing things as they are and an abhorrence of holding ideas which
do not conform to facts, he will be wholly independent of the assent of those around him.
When he proceeds to apply his beliefs in the practical conduct of life, the position is different.
There are then good reasons why his attitude should be less inflexible. The society in which
he is placed is an ancient and composite growth. The people from whom he dissents have not
come by their opinions, customs and by a process of a mere haphazard way.

These opinions and customs all had their origin in a certain real supposed fitness. They have
certain depth of root in the lives of a proportion of the existing generation. Their congruity
with one another may have come to an end. That is only one side of the truth. The most
zealous propagandism cannot penetrate to them. In common language, we speak of a
generation as something possessed of a kind of exact unity, with all its parts and members
homogenous. Yet, plainly, it is not this. It is a whole but a whole in a state of constant flux; its
factors and elements are eternally shifting. It is not one but many generations.

Each of the seven ages of man is neighbour to all the rest. The column of the veterans is
already sinking into the last abyss, while the column of the newest recruits is forming to each
its tradition, its tendency and its possibilities. Only a proportion of each can have nerve
enough to grasp the banner of a new truth and endurance to bear it along rugged and
untrodden ways. Thus, we must remember the stuff of which life is made.

SubQuestion No : 22

Q.22 Which word in the passage means ‘having a broken, rocky and uneven surface’?

Ans

2 A. Congruity
< B. Haphazard

" C. Rugged
< D. Untrodden

Question ID : 630680173043
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

A person who takes the trouble to form his own opinions and beliefs will feel that he owes no
responsibility to the majority for his conclusions. If he is a genuine lover of truth, if he is
inspired by a passion for seeing things as they are and an abhorrence of holding ideas which
do not conform to facts, he will be wholly independent of the assent of those around him.
When he proceeds to apply his beliefs in the practical conduct of life, the position is different.
There are then good reasons why his attitude should be less inflexible. The society in which
he is placed is an ancient and composite growth. The people from whom he dissents have not
come by their opinions, customs and by a process of a mere haphazard way.

These opinions and customs all had their origin in a certain real supposed fitness. They have
certain depth of root in the lives of a proportion of the existing generation. Their congruity
with one another may have come to an end. That is only one side of the truth. The most
zealous propagandism cannot penetrate to them. In common language, we speak of a
generation as something possessed of a kind of exact unity, with all its parts and members
homogenous. Yet, plainly, it is not this. It is a whole but a whole in a state of constant flux; its
factors and elements are eternally shifting. It is not one but many generations.

Each of the seven ages of man is neighbour to all the rest. The column of the veterans is
already sinking into the last abyss, while the column of the newest recruits is forming to each
its tradition, its tendency and its possibilities. Only a proportion of each can have nerve
enough to grasp the banner of a new truth and endurance to bear it along rugged and
untrodden ways. Thus, we must remember the stuff of which life is made.

SubQuestion No : 23

Q.23 What is the author’s opinion on the homogeneity of a generation?

Ans  # A Even though it seems that a generation is similar in all aspects, and in that sense,
static in its beliefs, but in reality, it is undergoing continuous changes.
< B. There is nothing called a generation. Life is a miracle, and each one of us is living our
own individual life. The very idea of generation itself is a myth.
75 C. The older generation of people had several similarities in their opinions and beliefs,
but the younger generation does not have that.

% D. Every generation has too many differences and in that sense, there is no similarity
among its members.

Question ID : 630680173040
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

A person who takes the trouble to form his own opinions and beliefs will feel that he owes no
responsibility to the majority for his conclusions. If he is a genuine lover of truth, if he is
inspired by a passion for seeing things as they are and an abhorrence of holding ideas which
do not conform to facts, he will be wholly independent of the assent of those around him.
When he proceeds to apply his beliefs in the practical conduct of life, the position is different.
There are then good reasons why his attitude should be less inflexible. The society in which
he is placed is an ancient and composite growth. The people from whom he dissents have not
come by their opinions, customs and by a process of a mere haphazard way.

These opinions and customs all had their origin in a certain real supposed fitness. They have
certain depth of root in the lives of a proportion of the existing generation. Their congruity
with one another may have come to an end. That is only one side of the truth. The most
zealous propagandism cannot penetrate to them. In common language, we speak of a
generation as something possessed of a kind of exact unity, with all its parts and members
homogenous. Yet, plainly, it is not this. It is a whole but a whole in a state of constant flux; its
factors and elements are eternally shifting. It is not one but many generations.

Each of the seven ages of man is neighbour to all the rest. The column of the veterans is
already sinking into the last abyss, while the column of the newest recruits is forming to each
its tradition, its tendency and its possibilities. Only a proportion of each can have nerve
enough to grasp the banner of a new truth and endurance to bear it along rugged and
untrodden ways. Thus, we must remember the stuff of which life is made.

SubQuestion No : 24

Q.24 Select the most appropriate central theme of the passage from the options given below.

Ans

25 A. Differences in the thinking of individuals of different ages
" B. Individual beliefs vis-a-vis established opinions and customs
#5 C. The requirement of flexibility in an individual's thinking

2<% D. The importance of following age-old traditions and customs

Question ID : 630680173039
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

A person who takes the trouble to form his own opinions and beliefs will feel that he owes no
responsibility to the majority for his conclusions. If he is a genuine lover of truth, if he is
inspired by a passion for seeing things as they are and an abhorrence of holding ideas which
do not conform to facts, he will be wholly independent of the assent of those around him.
When he proceeds to apply his beliefs in the practical conduct of life, the position is different.
There are then good reasons why his attitude should be less inflexible. The society in which
he is placed is an ancient and composite growth. The people from whom he dissents have not
come by their opinions, customs and by a process of a mere haphazard way.

These opinions and customs all had their origin in a certain real supposed fitness. They have
certain depth of root in the lives of a proportion of the existing generation. Their congruity
with one another may have come to an end. That is only one side of the truth. The most
zealous propagandism cannot penetrate to them. In common language, we speak of a
generation as something possessed of a kind of exact unity, with all its parts and members
homogenous. Yet, plainly, it is not this. It is a whole but a whole in a state of constant flux; its
factors and elements are eternally shifting. It is not one but many generations.

Each of the seven ages of man is neighbour to all the rest. The column of the veterans is
already sinking into the last abyss, while the column of the newest recruits is forming to each
its tradition, its tendency and its possibilities. Only a proportion of each can have nerve
enough to grasp the banner of a new truth and endurance to bear it along rugged and
untrodden ways. Thus, we must remember the stuff of which life is made.

SubQuestion No : 25

Q.25 What is the author’s opinion on people who “have nerve enough”?
Ans X A. Such people are homogenous with the customs being followed in their communities
from generations together and have the nerve to abide by the same.
+" B. Such people are very small in number, but they alone have the guts to move out of the
established norms and take their beliefs forward amidst difficulties.
2% C. Such people exist only among the youngsters who have the nerve to go against
established norms, whereas, in the case of veterans they are stuck to age-old customs.
< D. Such people existed only in the past in large numbers, but at present we do not see
such individuals at all who have the guts to stand by their beliefs.

Question ID : 630680173041
Status : Not Answered
Chosen Option : --

Section : General Aptitude
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Question ID : 630680173299
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Section : General Intelligence
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#< A 1200

#8500

~<c 800

+ 01000

Question ID : 630680173458
Status : Answered
Chosen Option: C

Q.21

Ans

o= T A, B, C, D 3R E et & AT F vk O daw W AS §1 A, D F AW & g@ T W dar
TR B CHFa e M BN WAL E DS ST e B A3 21 B+ D & 799 & 747
g1 C & 8 ae T & HiF g 37

XA A

< B E

XCB

«D. D

Question ID : 630680173372
Status : Answered
Chosen Option: D




Q22 a7 weg-gew g v €, oA & A Gl @R @ wwaae § et v e §) 38 sEes aes-giA
T TTT FL

ANS XA FUETT AT : STTT ST
X B YR AT : 3UR AT
¢ C B FLAT | AFEAT HAT
XD ZF FAT ;3T

Question ID : 630680173428
Status : Answered
Chosen Option: C

Q.23 e fafea FHT T F AT Fr "21" Br@r Fmar ¥ 3T "COME" #r "36" fBrar =ar &1 ar 37 o &
"KIND" Fr &% for@r smewm?

Ans XA 34
X8 42
xc. 37
v 0. 38

Question ID : 630680173401
Status : Answered
Chosen Option: D




Q.24 G smgleat # s & % gt # Asd & HF AR FS TT FEr B we S @ e

Ans

AT B WES 9 TE FES ST B@T?

Premm e ——— memmm e ———————— e e ————

r

x> <

RN

Question ID : 630680173447
Status : Answered
Chosen Option: B




Q.25 R, P ¥ % 3% WId 1T & ofhad N & A 3e 9rog &iar g1 T, R & &5 3% 9Iod 4T &,
AT P ¥ 310 3 9T FT £ @ M ¥ 3 3 9T T €, AfFT N & FH 3F "o Far
BIMREIF FF Ira a5l TN, ST FAFF ara T 8, af M, N, P, @, R, S 3k T &
o e gew wfow 3w e 7

Ans SAG

< B N

xXc M

XD Q

Question ID : 630680173385
Status : Answered
Chosen Option : A

Sectio

Q.1 us =ufET 9ga 90 km Fr AT 45 km/h Y =T F AT . 3RS 210 km FT 0 60 km/h Fr T &

FA R AR 40 9 F T x kmvh F T A A FA R A X A A wA S e 61.5
km/h &, & x & A FT &2

Ans X A B5
X8 64
v C 70
XD 75

Question ID : 630680173164
Status : Not Answered
Chosen Option : --




Q.2 =7 9% IF T FeTAT FL HNT F9T F a7 &

7 3% (2016 ¥ 2022) F 3gART AT B Fir el rWIE A

2016 2017 2018 2019 2020 201 2022

#r Rhr 1 g Aa A
Ans 20
A =
20
20
29

xB
xc.

* D.

ol o

T d A d B R 20 s it Adfritma aFr s a0 g s as F A B

Question ID : 630680173222
Status : Answered
Chosen Option : C

E

Ans

LA 272
3

xB 252
2

2

XcC 26-
3

1

XD 28-
3

Q3 X s Y sor-aee S FE g UF FE A Fan 24 Rt dv 32 R & qp o www § a3
THIAT T H UH-UF 167 % (AT FE A §, 3 X FH A T & g, A 0 e e # @

Question ID : 630680173215
Status : Not Answered
Chosen Option : --




Q4 I 7 v FE W FH T Y B T 15 R F 5w w7 w1 L oawr @ T w1 { 3ES der A
g & AN I 4 R # wE I w # wwe @ fer SR & v wy Brew @ e
femt & q@ @ e
Ans 40
oA —
3

xp 20
4
21
2

xo 38
3

< cC

Question ID : 630680173211
Status : Not Answered
Chosen Option : --

Q5 A BarcFiil Fygue # wod @Y F Ty vF w=EE oF B 4 TS 918, 3 A9

57276

e #1 2R &Y R Wiy 9% % 3 F e 22,31,000 ¥, @ C F frwwr G &7
Ans X A 21,02,000

« 8 21,04,000

« ¢ 21,05,000

x 0. 71,06,000

Question ID : 630680173190
Status : Not Answered
Chosen Option : --

Q.6 3 97 3 2 §fEw &1 Hrw 1102 &1 9 v 99 & A 12.50 FA ST @ = & H v dfEe &
e 31.50 =g g omer &, & 4 9= 3k 3 SRt = e 2132 & Smer ¥ 5 ot ik 4 9t W
T AT F

Ans X A 2163
vE 2173
xc 2168
X0 2171

Question ID : 630680173228
Status : Answered
Chosen Option: B




Q.7 =fy 217,500 #r Tf¥r, e w9 F Twgiad 1 W T x % F W T W 1 T F 719,293.75
2 S g, A x @ A e &

Ans XA 13
xXB 12
¥ C 10
X0 11

Question ID : 630680173197
Status : Not Answered
Chosen Option : --

8 o x v weEg Pae & AT & % ¢ & sEe avwa 7 S

Ans
xa VB2
2

KB x2

Vax?
3

 C.

XD X

2

Question ID : 630680173239
Status : Answered
Chosen Option : A

Q9 a7 vw gt F1 3 WET HE H R war € 3k St st Fr oo Fwer 50 kmvh, 40 kmvh AR
30 km/h & =Te & T g1 T A F e swdEr dET = (kmvh #) F4w 2

Ans XA 375
X8 60
X c 40
D 38.3

Question ID : 630680173200
Status : Answered
Chosen Option: C

Q.10 TE FEed [aT F AT TEG I AT 3§ TN diha fhaT B 3w 21% v e anfier @ ofy 9w
e TET O 12% & ge 44 B, o 3@ ST W SEH akdies o Reaer o

Ans XA 8.18%
X B 7.28%
< C 598%
v D 6.48%

Question ID : 630680173177
Status : Answered
Chosen Option: D




Q11 Fr wemst x 3ty #F FFET (LCM) 3o FFT. (HCF) @ 21 760 § 3K 3% HCF 3iw LCM &1
AT 176 F1 oy —y FAF 32§ A «F —y? F A FT geme

Ans X A 2056
« B. 2065
X ¢ 2650
« b 2560

Question ID : 630680173158
Status : Not Answered
Chosen Option : --

Q.12 o & e ABC & Tiiees & idus g S Gess i A= (3,2, B=(1,4) #;C =5 4)
2l

Ans A (—3,—4)
X8 (—3,4)
«C (3,4)
XD (3,—4)

Question ID : 630680173247
Status : Answered
Chosen Option : B

a3 Ilﬁ'x+y=22§', ar =+ = =2
-z y-Z

Ans X A _1
xB 2
¥ C 1
XD =2

Question ID : 630680173225
Status : Not Answered
Chosen Option : --

Q.14 34200 & 7fFr o 15% Wiy a9 &7 2T & 4 IuF & A #ET Franor ==, 23,000 9T 20% wiaay @
T W 4 Tt & e #ET TR s & B s §

Ans KA 2130
~B.%100
¥ C 2120
A<D 2110

Question ID : 630680173195
Status : Answered
Chosen Option: C




1 [J2025 — /200 @ AT AT HL
Ans o A 5

xe 8

+#C b

X0 7

Question ID : 630680173149
Status : Answered
Chosen Option: C

Q16 Ffri+m+n =2772, 1:(m+n) =5: 13 38T n:(l+m) =4:7 & B m & AT 7T FL2
Ans X A 990

X B. 991

X< C. 995

« D 994

Question ID : 630680173184
Status : Not Answered
Chosen Option : --

Q.17 TE qTow @ 3ifEa #qea 21100 §1 OF el 7 50 3 FEw ge, Bwd wger g 125% € T &
=T 2866.25 TIET| GELT T X w4 ofr?

Ans K A 10.50%
« 8 10.10%
X ¢ 10.25%
+ 0. 10.00%

Question ID : 630680173182
Status : Answered
Chosen Option: D

Q18 312500 $rma # v AT FTg P 10% AN T A W AR F 3F 55% A W
ZFEER 87 RET THEEER & 56 3 $U Few W 32,393.75 sfew kT R sk e
F 10% # Fe &1 FFER G AT A AT Hriew

Ans X A B53.75
# B. 693.75
« ¢ 703.75
< D. 600.75

Question ID : 630680173172
Status : Not Answered
Chosen Option : --




T S e ere R # 7 yeie o Ty 3R
5.2 inch X FA$ 4.5 inch &, AT AABC FT &9 AT HITATI

A

B C

Ans XA 24.4inch?
X B 48 6 inch?
X C 23.4inch?
' D. 46.8 inch®

Question ID : 630680173234
Status : Not Answered
Chosen Option : --

Q.20 Frr e or BreTws $F =TT $7 @92 20 cm 3T FOT 125° F) x Fr @S F 0T He

125¢

== Sxem

Ans X A 816 cm
¥ B 916 cm
#<C 10.126 cm
#< D 7158 cm

Question ID : 630680173240
Status : Not Answered
Chosen Option : --

Q21 firg & FoT & ¢ 12.5% = ST &1 I w7 #qEw 322,781.25 &, & 2 A9 g FAF (7 H) W
or?

Ans 17,500
v & 18,000
x ¢ 18,500
0. 19,500

Question ID : 630680173170
Status : Answered
Chosen Option: B




Q.22 fmm aifeesr & 3§ 2000-01 & T Fioas =@ 61 & wmnst @ Ty #v 39 7w Bt wE &
Fifaes @t F wew gafd o ¥ 9= F @ e F wie @ Hay F § afea (BPL) F e
T AT FE7 [FEE = B - wde)
g Tarshr
e | 450 | 1800 | 372 | 1240
sfif=r | 700 | 600 | 540 | 480
drdfresr | 1000 | 300 | 880 | 250

Ans XA 14
XB 11 :
xc 12 :
D16 :

n =~ & W

Question ID : 630680173216
Status : Answered
Chosen Option : D

Q23 gfy x —32632—627.7169 3T y =22 ¥ @ 2x—3y = F AT AT FI?

Ans XA 200
X B. 247
X C 473
& D 274

Question ID : 630680173152
Status : Not Answered
Chosen Option : --

Q24 o sfza ow PRTa gl o wm-REE aFT 75 kmh T aw S FT FaTE AT F
TR ST 45 km/h FT e § T Far € HT Aw gl #1555 kmh Fr o § a@ war g S g arw &
gl saeT SHiee e fhae &

Ans X A 56.82 kmph
« & 55.82 kmph
X c. 57.82 kmph
X 0. 54.82 kmph

Question ID : 630680173162
Status : Answered
Chosen Option: C




Q.25 uw NS P R X' 97 W2 UH =Hied # 9N & F 15 TeE o997 § 3T 37 wEws X #r 9%

Ans

T H 22 U5E od §l T 3eT TR 'Q 3E oeniE X W O UF oiigd & 97 & H 20 d9s
F FAT o &1 OfE TEmEr P T Q) & = FHe 72 kmih AT 36 kevh B, ST TeTEr P, TeeTEr
'Q #T EwE X Fr FaS @ AT fhaer §7

XA BB0 m

« B 640 m

XC 740 m

<D 680 m

Question ID : 630680173207
Status : Not Answered
Chosen Option : --






